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Real Estate Financial Modeling 
– Certification Quiz Questions 

Module 1 – Real Estate Overview and Short Case Studies/Modeling Tests 
 

1. What is the PRIMARY difference between office/retail/industrial and multifamily 

properties? 

 

a. Lease terms tend to be much shorter for multifamily properties (~1 year), while they 

are longer for the others (5-10 years). 

 

b. The lease terms vary significantly for office/retail/industrial properties, with 

different tenants receiving different concessions and rent, while they are much 

more similar for multifamily properties. 

 

c. The financial modeling for office/retail/industrial properties is often based on 

individual tenants and is, therefore, more granular than analysis for multifamily 

properties. 

 

d. Tenant Improvements (TIs) and Leasing Commissions (LCs) are significant for 

office/retail/industrial properties, but they tend to matter far less for multifamily 

properties. 

 

e. All of the above. 

 

2. You are reviewing a deal where a private equity firm wants to acquire a stabilized 

multifamily property for $10 million with a 70% LTV ($7 million of Debt). The Going-In Cap 

Rate is 6.0%, and prevailing interest rates on similar loans are about 4.0% currently. Is this 

deal feasible? 

a. No – 70% is far too much leverage for a stabilized property with limited potential for 

capital appreciation. 

 

b. It depends on the amortization period of the Debt, the property’s capital costs, and 

the covenants that the lenders are seeking. 



 
 
 
 

 
 

2 of 6  https://breakingintowallstreet.com 

 

c. Yes – 70% might be too much leverage for a normal company, but since the 

amortization periods are often much longer in real estate, the property’s Net 

Operating Income of $600K per year is sufficient to service the Debt. 

 

d. Yes – but only if the Debt has an Interest-Only Period and its Interest Rate is fixed. If 

not, then there’s too much risk of the property’s NOI not being able to cover the 

required Debt Service. 

 

3. You have built an investment model for a mixed-use office/retail property in New York 

City. The property currently has 3 tenants. You have assumed that upon lease expiration 

for each tenant, there is a chance the existing tenant renews and a chance that you’ll have 

to find a new tenant. The concessions and capital costs differ in each case. 

Some of the assumptions for this model are shown below. Based on this screenshot, what 

is the BIGGEST apparent problem with your model? 

 

a. The assumed New Lease Term of 7 years is far too long for office/retail tenants; a 

more realistic assumption would be 3-5 years. 

 

b. The Renewal Probability of 50% is too low; it should be more like 70-80%, especially 

for a property with only ~3 tenants. 
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c. The Rental Growth Rates of 2.0% and 1.5% are off because Rent typically grows at a 

rate slightly above inflation. 

 

d. The Months of Free Rent are reversed – New tenants almost always require higher 

concessions than Renewal tenants, which means more Rent-Free Months. 

 

e. The model is not flexible enough to handle the case where the Months of Downtime 

exceed 12 because it is based on simple annual estimates, and we assume that 

leases always expire on December 31. 

 

4. Please review the following Pro-Forma for a mixed-use office/retail property that 

currently has 3 tenants. Based solely on this Pro-Forma, which of the following 

statements is (are) reasonable? 
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a. It seems like this is a relatively stabilized property, and that its tenants are expected 

to sign leases with similar rent and rental escalations when their existing leases 

expire. 

 

b. The property owners may not be setting aside enough for the Capital Cost Reserve 

because the Adjusted NOI falls below the NOI in Year 4. 

 

c. An Interest-Only (IO) Period for the Senior Debt would benefit the property owners 

in this deal, given the significant difference between Adjusted NOI and Cash Flow to 

Equity Investors in the first few years. 

 

d. It is likely that all 3 tenants, or at least 2 out of 3 tenants, have NNN leases. 

 

e. All of the above. 

 

5. You are reviewing a simple real estate development model for an industrial complex in 

Calgary. The construction period takes one (1) year, during which time the interest and 

loan issuance fees on the Construction Loan (50% LTC) are capitalized. 

Upon the end of development, the Construction Loan is refinanced with a Permanent 

Loan at a 55% LTV. 

The Sources & Uses Schedule and Equity Returns Schedule are both shown below. Based 

solely on these schedules and the description in this question, which of the following is a 

potential PROBLEM or OVERSIGHT in this model? 
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a. The capitalized interest and loan fees do not appear as Uses of Funds, so the 

development’s total cost may be understated. 

 

b. In reality, not all the Equity is drawn at the end of the Construction Year – this is a 

development, so the draws almost certainly occur over several months. 

 

c. When Cash Flow to Equity Investors turns negative in the first year following the 

Construction Year, we do not assume any additional Equity Draws. 

 

d. If the Excess Land’s value is growing by only 3% per year and the Equity IRR is 20%, 

we should not purchase so much land in the beginning. 

 

e. All of the above. 

 

6. This same development model has a Waterfall Returns Schedule where the cash flows are 

split 10% / 90% between the Developer and LPs up to a 10% Equity IRR (Tier 1), 20% / 80% 

between a 10% and 20% Equity IRR (Tier 2), and 30% / 70% above a 20% Equity IRR (Tier 
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3). The Developer contributes 10% of the Equity, and the LPs contribute the remaining 

90%. A portion of this schedule for the Tier 2 IRR is shown below: 

 

Cell I168 here refers to the Cash Flow to Equity Investors in the selected year. Based on 

the formula shown in this screenshot and the description above, which of the following 

statements can you make about this Waterfall Schedule? 

a. This schedule is not correct because the Tier 2 Repayment formula does not subtract 

out the cash flows that were distributed in Tier 1, so it does not correctly represent 

the 20% / 80% split between a 10% and 20% Equity IRR. 

 

b. This schedule might be correct, but only if we subtract out the Tier 1 distributions 

when re-assembling the cash flows to the LPs and Developer and multiplying by 

their respective percentages at the end. 

 

c. This schedule might be correct, but only if we base the Tier 2 distributions on the 

amount remaining for Tier 2 minus the amount remaining for Tier 3 and then 

multiply by the respective percentages for the LPs and Developer at the end. 

 

d. It’s fair to say that if the Waterfall is structured like this, then the LPs have a 10% 

Preferred Return and the Developer has a 10% Catch-Up Return. 

 

e. If we modeled a “Downside Case” with an Equity IRR of only 0-5%, this schedule 

would give an advantage to the LPs at the expense of the Developer. 


